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1 "TCA", "MCPA" g, 4l 7
(A) legi-las
(B) &Y 93 sd Mewl 2 vlde et od
(C) 8y 93 sug Mew
(D) YldR g&
The "TCA" and "MCPA" are not
(A) Weedicides
(B) Manual weed control and Power tools both

(C) Manual weed control

(D) Power tools

2 s arifasidl el a8 T
(A) Santalum album
(B) Cymbopogon martinii
(C) Pandanus odoratisimus
(D) Styrax benzoid
From which plant "lobaan" is obtained ?

(A) Santalum album

(B) Cymbopogon martinii
(C) Pandanus odoratisimus
(D) Styrax benzoid

3 el sl wsil vie d-ufd 8 7
(A) USsHID
(B) 44l ¥
(C) %80
(D) iU (1)
Soyabean is the food plant of
(A) Vegetables
(B) All of these

(C) Pulses
(D) Cereals
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4 sl oflongams Anidl Gous wiy 8 7
(A)  oflongaisl
(B) =13y gl
(C) oyHi-l
(D)  Hlo-yHi-l
The sporophyte of Riccia is represented by
(A) Sporangium
(B) None of these
(C) Antheridia
(D) Archegonia

5 &R sey 58 XMl adI WML Gulel & 7
(A) #du
(B) ol %
©) g
(D) sl
The grafting of cleft or wedge is used maximum in which plant ?
(A) Orange
(B) All of these
(C) Chickoo
(D) Mango

6 Sy (Afadla)ul veldy oot g s3qMl »1d 8 7
(A) 4
(B) =13y gl
(C) usl3
(D) M=lE
Leafy part on Fern (Nephrolepis) plant is known as
(C) Stipe
(B) All of these
(C) Stem
(D) Rachis

7 &5 «fleldel aqduld AA-A] g0 4 © 7
(A)  HudHl
(B) sl21vll disn%] i w2l od
(C) si2lvll disal
(D) w3
Which weed plant belones to Amaranthaceae family ?
(A) Cypraceae
(B) Amaranthus and Alternanthera both
(C) Amaranthus
(D) Alternanthera

DE-2915 C ] 3 [ Contd...



8 il (syudu)Hl sy ulq
(A) 18 v Haioll
(B) o4l %
(C) & 2 yel
(D) Helioll »id vl
In Moss (Funaria) the gamme are formed on
(A) Axis and Rhizoids
(B) All of these parts

(C) Axis and leaves
(D) Rhizoid and leaves

9 &5 a-afasl ofly CuaHl” dd3 vilrisdl Guylsll § 7
(A) &9l
(B) =13y gl
(C) Lol
(D) Al

Which one of the following plant seed is known as "Rajma" is used as food?

(A) French bean
(B) None of these
(C) Soyabean

(D) Cow pea

10 i (sy-Uu) i dRHHEd 2318 Uz 3d] olsqell €1y & 7
(A) ddysie 4zl
(B) i3l vl
(C) alsiR
(D) {0y ygl
In Moss (Funaria), the peristomal thickenings are laid down as
(A) Spiral bands
(B) Tangential bands

(C) Reticulum
(D) Radial bands
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11 el sl sl ellsl el flewdl Gualol vilus ddly 3 8 7
(A) Al i AU oA
(B) i3y -8
©) A+
(D) @M+
In which country, people uses the marine weed plants as food ?
(A) China and Japan both
(B) None of these
(C) China
(D) Japan

12 4l (g4l oflong, 3edl @l 4ud 8 7
(A) 0.012 ¢ 0.030 | 3],
(B) 0.012 4] 0.015 {3,
(C) 0.06 &l 0.012 ..
(D) 0.08 4l 0.012 4.3,

The diameter of Moss (Funaria) spore is
(A) 0.012 to 0.030 m.m.

(B) 0.012 to 0.015 m.m.

(C) 0.06 to 0.012 m.m.

(D) 0.08 to 0.012 m.m.

13 Ayl anufdHl v eligaldl gyl s4) 8 7
(A) A % il
(B) o4l %
(©) RAWR 3 P-y»yd]
(D) ¥ 3%
State the time duration used for the grafting of Bud in Phanerogames plant?
(A) March or April
(B) All of these

(C) December or January
(D) May or June
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14 &y (AUl oflonguelld sl o 8 7
(A)  [Ea(lyagein
(B) oltl %
(C)  dlufds U
(D) wi[Ea(lyo
The function of Sporophyll in Fern (Nesphrolepis) is

(A) Sexual reproduction

(B) All of these
(C) Vegetative
(D) Asexual reproduction

15 sl s qol]l aqfe & 7
A) (Bl
(B) 13 «dl
(C) [Hwisll
(D) [89el
Riccia belongs to class of
(A) Filliceaneae
(B) None of these
(C) Pteridophyte
(D) Hipataceae

16 56 snsHI d-ifd Qe s gladl A ?
(A)  4ddl
(B) {3l # qfRul eid
) ol
(D) okl
Which fruit vegetable does not belog to Papillionaceae family?
(A) DBean
(B) Lady's finger and Ridge gourd both
(C) Lady's finger
(D) Ridge gourd
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18

19

20

g1y (AfAadla) i di-lyer sul usied e s 8 7
(A)  [Ea(lyagein

(B) =13y gl

(C)  w[E(lU%r

(D)  dlufds U

Which type of reproduction is done by sori in Fern (Nephrolepis) ?
(A) Sexual reproduction

(B) None of these

(C) Asexual reproduction

(D) Vegetative reproduction

56 la1Hel anifi il o qrladl Aol ?

(A) I¥iRedlyl il

(B) Hlalsil 3l2i2l

(©) Alsn ausiHlsd]

(D) UL 33l

Which weed plant does not belong to Poaceae family?
(A) Desmostechia spp.

(B) Malachara capitata

(C) Panicum diycotomiflosi

(D) Cyanadone dectyone

AsAlul ysiusuiddl 56 il wzzild dy 8 7

(A) SIS BY%rLs wae] $UI3% oflAQamls idRY|
(B) o4l %

(C)  FY%-s vidY|

(D) ol s vide|

Which generation starts from Riccia thallus ?

(A) Sometimes Gametophyte and sometimes Sporophyte
(B) All of these

(C) Gametophyte
(D) Sporophyte

56 graylanl uslasl glrl diufis uadd gldl wag el ?

(A) 39

(B) 243w i 30 ol

(C) UHSBL

(D) ¥H3u

In which of the following vegetative reproduction is not shown by bulbill?
(A) Banana

(B) Guava and Banana both

(C) Agave

(D) Guava
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21 HRUS elol sed U Gelerel © 7
(A) 253l uad+
(B) udanidl s AR
(C) ¢dl elol $44
(D) ¥l slof 56y
Who's example is "twist layering" ?
(A) cutting propagation
(B) None of these
(C) air layering propagation
(D) soil layering propagation

22 59 viig dqufd A2l @lsrel s s 9 7
(A) ysi¥al
(B) o4l %
(C) L%
ORI
Which one of following food plant has the ability to fix the nitrogen?
(A) Nuts
(B) All of these

(C) Cereals
(D) Pulses

23 “qiasirl 2lziel” 56 sl Mesl g-ufa 8 7
(A)  ysiRo{laiz]
(B) -l
(C) Hledz(l
(D) wiHA]
The weed plant Malchara capitata belongs to family
(A) Euphorbiacea
(B) Gramineae

(C) Malvaceae
(D) Amarantheceae
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24 {1yl ysusml gl suiddl diy & 7
(A)  wliAell UML) B vy YO ol
(B) 54135 WiiAAl AMHIOL 5415 WAL deRyH19)
(C)  wli~ll UML)
(D) w2l dee™I9]
The growth of Riccia thallus starts from the
(A) Apical portion of Ridge and Basal portion Ridge both
(B) Sometime Apical portion of Ridge and sometimes Basal portion Ridge
(C) Apical portion of Ridge
(D) Basal portion Ridge

25 sl sul gl sUalsl 1 8 7
(A) el
(B) =13y gl
(C) Hledz(l
(D) el
The fruit vegetable - French bean belongs to family ...

(B) Solanaceae
(A) None of these
(C) Malvaceae

(D) Papillionaceae

26 Sy (Asiadlu)Hl oflong, sl 30 41d B 7
(A) windl
(B) =13y gl
(C) sl
(D) olelyl
The colour of spore in Fern (Nephrolepis) is
(A) Purple
(B) None of these

(C) Black
(D) Brown

27 uldesdl gyl ofl S8 o] vidle ldul Uy 2l Mewld sy
[Megl sdauy ?
(A) [RdMa] Hew
(B) [aydl Hesl
(©) [Madl Heal
(D) dl Hew
Give the name of weed which comes from other area to the fields and
settles there
(A) non native weed

(B) foreign weed
(C) native weed

(D) imported weed
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28

29

30

[Rsxflul yslusHi YL s

(A) M

(B) o4l %

(C) Mgl

(D)  uslad=amsl

The function of dorsal portion in Riccia thallus is
(A) Fixation

(B) All of these

(C) Absorption

(D) Photosynthesis

56 Bl Hesardl qladl e 280wy 8 7
(A) AHIY

(B) GlUll wid 2H13 oA

(©) Rl

(D) Gellull

In which secason, the growth rate of grafting is low?
(A) Monsoon

(B) Summer and Monsoon both

(C) Winter

(D) Summer

£ grayfael ef4oldy vgayfd ddly Gulell <&l ?
(A) SU%R

(B) @443l

(C) Huu

(D) Rdlq

Which underground root plant is not used as food plant?
(A) Carrot

(B) Alternenthera

(C) Radish

(D) Yams
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31 wlRgs sl gl aAl-iifs Y- A4l Wy 8 7
(A)  uss(Rul
(B) o4l %
©) duy (Afatu)
(D) wifaivey
Vegetative reproduction is done by adventitious bud in
(A) Sweet potato
(B) All of these
(C) Fern (Nephrolepis)
(D) Adiantum

32 wl-lgnl 58 a-dfd-dl GualyHl Guyiol »iy § 7
(A) U
(B) HI{A)
(C) -l
(D) $lell

Which one following Gramiheae family plant i1s used as food during "fast
day ?

(A) Rai

(B) Moriyo

(C) Finger millet(nagali)

(D) Kodara

33 [zl axwufdaui (28Y 21yl 440 Hlal 4a & 7
(A) Heioll w4 ues
(B) ellgHigsin
© ry
(D) oflmg,
In bryophyte the diploid number of chromosomes occurs in the
(A) Rhizoids and scale
(B) Spore mother cells

(C) Gametes
(D) Spores
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34 dsAlusl aya-sviaidl wzvild oflmgdl s vid g Gous iy 8 7
(a) ¢lng
(B) Ydg
(€) 4%y
(D) Hysld
The gametophytic generation of Riccia begins from spore and terminates at
(A) Spore
(B) Protonema

(C) Gamete
(D) Thallus

35 Mg digr et L Guylol 56 [MUseL vglaMl wiy 8 7
(A) Hils [Melvsl
(B) i3y [
(C) sy 93 agd Melme
(D) AAIUM@E Yald

Morden "Power tools" is used in the type of weed control method of
(A) Mechanical weed control

(B) None of these

(C) Manual weed control

(D) Chemical method control

36 Sy (A8dAMy) ssulsik ydie A uliMMd 4d 8 7
(A) 850 FYAS A i, $5d ol AQ %S A o3
(B) s4I18 w-Y%eis »iydl oflmgas
(C) &5 4%~1s Y|
(D)  &5d oflMY%-is vid|

Heart shaped prothallus of Fern(Nephrolepis) represents

(A) Only gametophytic stage and Only sporophytic stage both
(B) Either gametophytic or sporophytic stage

(C) Only gametophytic stage

(D) Only sporophytic stage
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37 sesl sedHl suldal ¢l Y sUL golrlasel GuAlol sealdl wiid & 7
(A) &2
(B) o4l %
(C) 3143l
(D) w3l
Which fungicide is used for the cutting part of the cutting grafting?
(A) Fermet
(B) All of these
(C) Faigone
(D) Aresone

38 Sy (AglaMw)ul oflongi-l-l 818aau-l ANHL yex sl ldl 1o &7
(A) iy glaidl wid wig-d] 2414 €laldl oA
(B) 13 «d]
(C) Yy €ladl
(D) s+l 214 €lalel

The cells of sporangial annulus in Fern (Nephrolepis) contain a
thickening along

(A) Radial and Inner tangential walls both

(B) None of these

(C) Radial

(D) Inner tangential walls

39 uybs M=t welaul Meedius 83 el 7
(A) 21use lAles w43
(B)  UWluAlA i 21uselRl s w8 o
(C) 2-4 3usel BB 2les 2R3
(D) Al
Which weedicide is not in chemical control method?
(A) Trychloro acetic acid

(B) Paris green and Trychloro acetic acid both
(C) 2-4 dichlorophinoxi acetic acid

(D) Paris green
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40l (sy-UD) AL qu usisdl tfdsll elslrl ol
(A)  dlyHl RS8R
(B) sy[esa S181%R i iyl SlRelar oA
(C) sylesd slr
(D) sylesd A1
In main stem of Moss (Funaria), the outer side of epidermis has
(A) Absence of stomata
(B) Absence of cuticle and Absence of stomata both

(C) Presence of cuticle

(D) Absence of cuticle

41 Sy (Afalu)4l s uBiiHl A wiqu1R sl Mol didl el 7
(A)  dlo-yHi-l
(B) yelayail
(C) MRLeI-[as
(D) el
Which of the following is not involved in the fertilization of Fern
(Nephrolepis)?
(A) Archegonia
(B) Flagellated sperms
(C) Pollen tube
(D) Water

42 sslo-vilEgHyfd Hie M19) sy 50 4ud 8 7
(A) i
(B) 13 «d]
(C) Hledz(l
(D) @yl
Pulses plants mostly belongs to family.

(A) Poaceae
(B) None of these
(C) Malvaceae

(D) Leguminoceae
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43 [goioll gyt w2 & (i |3 4] 7
(A)  sladisdl sdlsefaeia-d Ml oflmga-sdl Goult.
(B) oflongnl vigrulell aya-s Goun yy 8,
()  weAdl-] 2 Al sl 214
(D) usiuizaned]l uFdl FdL 1o 8.

Which one of the following statement is not true for bryophyta?

(A) Their zygote undergoes meiosis and then produce the sporophyte.
(B) On germination of spores gametophytes are produced

(C) They lack tracheids and sieve tubes.

(D) They are photosynthetic.

44 uadesl 5B dald 56 8 7
(A)  sedl wgld
(B) o4l %
© s vgld
(D) =uubLs Yald
Which is artificial method of the propagation?
(A) Grafting method

(B) All of these
(C) Physical method

(D) Chemical method

45 Yvld 63 Wil €Y 8,

(A)  adl uldsirs

(B) <1y uldsis

(C) ™Y ulisis

(D) e uldsis

Hard fibres are

(A) air resistant

(B) gas resistant

(C) water resistant

(D) pest resistant

46 Gesar g 8 7
(A) 8y 93 sug Mew
(B) =13y gl
(©) MR 2ex
(D) legi-laus
What is Battachlor?
(A) Manual weed control
(B) None of these

(C) Power tools
(D) Weedicides
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48

49

50

Wi (gymUdd0)Hl 2104908 el gl 4 8 7
(A) 285 sivHiell Aol SNl u%-

(B) o4l %

(C) af«alle Yl SNl

(D) ssnHie] Alougel] Sl 14X

The apical growth in Moss (Funaria) occurs by
(A) A single apical cell with three cutting faces
(B) All of these

(C) A group of meristematic cells
(D) A single apical cell with four cutting faces

sy (A81a1x) 1 gl Guaoel 4ud & 7
(A) [Bladey

(B) 13 «dl

(C) 4l

(D) Arilemvie

Fern (Nephrolepis) belongs to subclass
(A) Filicales

(B) None of these

(C) Braid

(D) Leptosporangiate

N
aAlriaifits UgHl slasl adulidl s4L oMl Gdus wy 8 7 i
(A) 4™
(B) ¥4 27 Yila oA
©) A ¢
(D) Y=llé \
In vegetative reproduction, the bud is origmated from the part of plant in PR
(A) Flower
(B) Root and Rachis both
(C) Root p
(D) Rachis

iy (sy-Uul)Hl 56 @l 258y ey 419 B 7

(A)  UR¥uEd

(B) i3y 4]

(C) ollmgHidsin

(D) sladi’

In Moss (Funaria), the structure which has haploid number of
chromosome is

(A) Peristome

(B) None of these

(C) Spore mother cell
(D) Zygote
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